
 

 



 

 



 

 



 

 



 

 



Éb Ê a1 = ® b1 = ¯ (® > ¯ > 0)

an+1 =
2anbn
an + bn

bn+1 =
C

an+1bn (n = 1; 2; 3;Ý)

(1) 0 < u < ¼
4

0 < 2u < ¼
2

®= tan (2u) ¯ = sin (2u)

a2 =
2a1b1
a1 + b1

=
2®¯
®+ ¯ =

2tan (2u) sin (2u)
tan (2u) + sin (2u)

=

2
sin (2u)
cos (2u)

sin (2u)

sin (2u)
cos (2u)

+ sin (2u)

=
2 sin (2u)
1 + cos (2u)

=
4 sinu cosu
2 cos2 u

= 2 ¢
sinu
cosu = 2 tanu

a2
tanu = 2

b2 =
C

a2b1 =
C

2 tanu sin (2u) =

F

2
sinu
cosu 2 sinu cosu =

C

4 sin2 u

= 2sinu
b2
sinu = 2

a2
tanu = A

b2
sinu = B A = 2 B = 2

������������

(2) p > 0 0 < x < ¼
2

®= p tanx ¯= p sinx (1)

a2 =
2a1b1
a1 + b1

=
2®¯
®+ ¯ =

2p2 tanx sinx
p(tanx+ sinx)

= p¢ 2 tanx sinx
tanx+ sinx = 2p tan

x
2

b2 =
C

a2b1 =
E

2p tan x
2
¢ p sinx = p

E

2 tan
x
2
sinx = 2p sin x

2

a3 =
2a2b2
a2 + b2

=
8p2 tan x

2
sin

x
2

2p# tan x
2
+ sin

x
2

;
= 2p ¢

2 tan
x
2
sin

x
2

tan
x
2
+ sin

x
2

= 22p tan # x
22

;

b3 =
C

a3b2 =
E

22p tan x
22
¢ 2p sin x

2
= 2p

E

2 tan
x
2
sin

x
2

= 22p sin # x
22

;
n

an = 2n¡1p tan # x
2n¡1

; bn = 2n¡1p sin # x
2n¡1

; ÝÝ A©

(a) a1 = p tanx b1 = p sinx n = 1 A©

 

 



(b) n = k (k= 1; 2; 3;Ý) A©
ak = 2k¡1p tan # x

2k¡1
; bk = 2k¡1p sin # x

2k¡1
;

ak+1 =
2akbk
ak + bk

=

2 ¢ 22(k¡1)p2 tan # x
2k¡1

; sin # x
2k¡1

;

2k¡1pS tan # x
2k¡1

;+ sin # x
2k¡1

;k

= 2k¡1 ¢ p ¢
2 tan # x

2k¡1
; sin # x

2k¡1
;

tan # x
2k¡1

;+ sin # x
2k¡1

;

= 2kp tan # x
2k

;

bk+1 =
C

ak+1bk =

F

2kp tan # x
2k

; ¢ 2k¡1p sin # x
2k¡1

;

= 2k¡1p

F

2 tan # x
2k

; sin # x
2k¡1

;
= 2kp sin x

2k

n = k+ 1 A©
A©
an

tan # x
2n¡1

;
= 2n¡1p

bn

sin # x
2n¡1

;
= 2n¡1p

�����������������������������������������

(3) ® = 2 ¯= 1 0 < x < ¼
2

Up tanx= 2 ÝÝ1

p sinx = 1 ÝÝ2

1
p sinx
cosx = 2

2
1
cosx = 2 cosx = 1

2

0 < x < ¼
2

x= ¼
3

2

B

3
2
p= 1 p= 2

B

3

lim
n!1
an = limn!1S2

n¡1 ¢
2
B

3
tan # ¼

3 ¢ 2n¡1
;k

= lim
n!1

V 2
B

3
¢
¼
3
¢

sin # ¼
3 ¢ 2n¡1

;
¼

3 ¢ 2n¡1
¢

1

cos # ¼
3 ¢ 2n¡1

;
n

=
2
B

3
¢
¼
3
¢ 1 ¢

1
1

=
2¼

3
B

3
����

 

 



lim
n!1
bn = limn!1S2

n¡1 ¢
2
B

3
sin #

3 ¢ 2n¡1
;k

= lim
n!1

V 2
B

3
¢
¼
3
¢

sin # ¼
3 ¢ 2n¡1

;
¼

3 ¢ 2n¡1
n

=
2
B

3
¢
¼
3
¢ 1

=
2¼

3
B

3
����

 

 



Éc Ê a

O

y

x1

a

C
Da

P(s; t)

C : y=

B

3
6
(x¡ 1)2

Da :
(x¡ 1)2

3
+ (y¡ a)2 = 1

(1) Da x
2(x¡ 1)
3

+ 2(y¡ a)
dy
dx = 0

dy
dx = ¡

x¡ 1
3(y¡ a)

(y Ë a)

Da #1¡
B

2 a¡

B

3
3

; Da

¡
1¡
B

2 ¡ 1

3#a¡
B

3
3
¡ a;

= ¡

F

2
3

�������

(2) C x
dy
dx =

B

3
3
(x¡ 1)

2 C Da P(s; t) (s > 1) P

2 C Da P(s; t) P 2

_

t =

B

3
6
(s¡ 1)2 ÝÝ1

(s¡ 1)2

3
+ (t¡ a)2 = 1 ÝÝ2

B

3
3
(s¡ 1) = ¡ s¡ 1

3(t¡ a)
ÝÝ3

3 s¡ 1 Ë 0

t¡ a = ¡ 1
B

3
ÝÝ30

30 2 (s¡ 1)2 = 2

s¡ 1 > 0 s¡ 1 =
B

2

s = 1+
B

2

1 t= 1
B

3

30 a = 2
B

3

a =
2
B

3
s = 1+

B

2 t =
1
B

3
����������������������������

(3) (2) a k k= 2
B

3
Dk y · k Ek 2 C Ek

x= 1 x 1¡
B

2 1 +
B

2

 

 



2 C Ek y = k 1

V 2 C Ek x ¡1 y ¡k

X
y=

B

3
6
x2 ¡ k

x2

3
+ y2 = 1 (y · 0)

x 1

O

y

x

B

2¡
B

2

y =

B

3
6
x2 ¡ 2

B

3

x2

3
+ y2 = 1 (y · 0)

¡
B

2 · x ·
B

2

#
B

3
6
x2 ¡ 2

B

3
;2 ¡ #1¡ x2

3
; = 1

12
(x4 ¡ 4x2 + 4) = 1

12
(x2 ¡ 2)2 ¸ 0

Ú #
B

3
6
x2 ¡ 2

B

3
;2 ¸ 1¡ x2

3

V = 2T
Z p2
0
¼#
B

3
6
x2 ¡ 2

B

3
;2 dx¡

Z p2
0
¼#1¡ x2

3
;dxl

= 2¼ ¢ 1
12

Z p2
0
(x4 ¡ 4x2 + 4)dx

=
¼
6

� x5
5
¡
4
3
x3 + 4x„

p
2

0

=
16
B

2
45

¼
�������

 

 



IV (2024 2 13 )

(1) f(x) =
cosx√

x
, g(x) = tanx+

3

2x
,




f ′(x) =

√
x(cosx)′ − cosx(

√
x)′

x
=

−
√
x sinx− cosx · 1

2
√
x

x
= −2x sinx+ cosx

2x
√
x

�������������

g′(x) =
1

cos2 x
+

3

2

(
− 1

x2

)
=

1

cos2 x
− 3

2x2
����������

(2) �p y − f(p) = f ′(p)(x− p) , �p (0, 0)

0− f(p) = f ′(p)(0− p)

−cos p
√
p

= −2p sin p+ cos p

2p
√
p

(−p)

3 cos p = −2p sin p

, p =
π

2
× ( ) ,cos p �= 0 . ,

3 = −2p
sin p

cos p
tan p = − 3

2p

.

,

g(p) = tan p+
3

2p
= 0

�

(3) (i) ,nπ − π

2
< pn < nπ +

π

2
. , �pn (0, 0) , ,

g(pn) = tan pn +
3

2pn
= 0

pn
(
nπ − π

2
< pn < nπ +

π

2

)
.

nπ � x < nπ +
π

2
g(x) = tanx︸ ︷︷ ︸

0

+
3

2x︸︷︷︸
> 0 .

,nπ − π

2
< x < nπ ,

g′(x) =
1

cos2 x
− 3

2x2
>

1

1
− 3

2
(
nπ − π

2

)2 � 1− 3

2
(
π − π

2

)2 = 1− 3
π2

2

> 1− 3
32

2

=
1

3
> 0

,g(x) ,



g(nπ) =
3

2nπ
> 0

lim

x→
(
nπ−π

2

)
+0

g(x) = −∞

,g(x) = 0 x nπ − π

2
< x < nπ 1 .

, 1 x pn , (i),(ii) pn 1 . ,

.

x

y = tanx

y = − 3
2x

nπ

nπ − π
2

nπ + π
2

pn

1

〔Ⅳ〕

 

 



(4) (3) pn , ,2 y = tanx, y = − 3

2x

(
nπ − π

2
< x < nπ +

π

2

)
1 x .

(3) ,pn pn < nπ .

,nπ − π

2
< nπ − 1

n
< nπ, ,nπ − π

2
< x < nπ +

π

2
tanx ,

tan pn − tan
(
nπ − 1

n

)
= tan pn − tan

(
− 1

n

)
(tanx π )

= − 3

2pn
+ tan

1

n

� − 3

2pn
+

1

n

(
0 � x <

π

2
tanx � x

)

=
2pn − 3n

2npn

>
2
(
nπ − π

2

)
− 3n

2npn
=

(2π − 3)n− π

2npn

� (2π − 3) · 1− π

2npn
(2π − 3 > 2 · 3− 3 = 3 > 0 )

=
π − 3

2npn
> 0

,nπ − 1

n
< pn .

, .

(5)

m
3
2αm = m

3
2 f ′(p2m) = −m

3
2 × 2p2m sin p2m + cos p2m

2(p2m)
3
2

= −2p2m sin p2m + cos p2m

2
(

p2m
m

) 3
2

· · · [1]

.

,2mπ − 1

2m
< p2m < 2mπ ,2π − 1

2m2
<

p2m
m

< 2π ,

lim
m→∞

(
2π − 1

2m2

)
= 2π

,

lim
m→∞

p2m
m

= 2π · · · [2]

.

,2mπ − π

2
< 2mπ − 1

2m
< p2m < 2mπ ,

cos
(
− 1

2m

)
= cos

(
2mπ − 1

2m

)
< cos p2m < cos 2mπ = 1

,

lim
m→∞

cos
(
− 1

2m

)
= cos 0 = 1

,
lim

m→∞
cos p2m = 1 · · · [3]

.

,tan p2m = − 3

2p2m
,

p2m sin p2m = p2m tan p2m cos p2m = p2m
(
− 3

2p2m

)
cos p2m = −3

2
cos p2m

,

lim
m→∞

p2m sin p2m = lim
m→∞

(
−3

2
cos p2m

)
= −3

2
· 1 = −3

2
· · · [4]

.

2
 

 



,[1],[2],[3],[4]

lim
m→∞

m
3
2αm = −

2
(
− 3

2

)
+ 1

2 · (2π) 3
2

=
1

(2π)
3
2

�����

.

( )

3
 

 


